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SET-1
. wig .
Series BVM/C codeno. DT11/1
T .
Roll No. ﬁﬁ%ﬁ' e =

Candidates must write the Code on the
title page of the answer-book.

o THUAT AT H W b 0 A9 H Ylgd I8 11 7 |

o WU H Mg 71Y i AR U 7T Sig Twak ! B IH-GIEIHT < §@-98 W fod |
o FHUA I B foh W IATHH 27TH B |

o THUAT I HT I ToTEAT T& T & Ugel, T T hATeHh 31avd o |

e U WU W Ued o iU 15 fiee o1 aw fon mn 8 | wee-ww o foawor qaig
10.15 & foham SIT@m | 10.15 S § 10.30 SIS I B had IIH-IF hl Ugi IR
39 A o GUH o IT-GETRT W HI3 I 81 T |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

SIERERIEN L EAIEED))

BIOLOGY (Theory)

FeiRa 77 : 3 T2 STfeHaTH 37 : 70

Time allowed : 3 hours Maximum Marks : 70
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AT (3597 :

(i)

(i)

(i11)

(iv)

(v)
(vi)

(vii)

97-97 H GR @US] § FT 27 97 130 TT & | @ 97 314ar |
U 3 H J97 T 1 @ 5 37 Tg-370F F97 8, Fedh Fo7 1 3% FT 8 |

GUZ F 4 7 G&IT 6 & 12 TY-ITIT To7 YR 1 & 8, J9F o7 2 37| &7
g/

GUE T F 97 G&IT 13 T 24 TY-I70T F97 FPR I & &, IA% 97 3 37hl
HE |

&GS § 7 J97 G&I1 25 & 27 -3 97 8, YA G975 3Bl FTE |
J97-95 § GHY W FI3 lasheq 787 8, 17 41 1 37 aret & I541 4, 2 371 arct
g g 7, 8 3H arct GR Il H 3N 5 37Hl qicd @it d ye 7 it
FI7-IdHeq 130 7T & | Ied wienef & v ¥l @ 3l fabedl 7 G HiF 0
97 & HAT & |

SIFTHATAR, [F] BT IGT GrH-GeRT TF J9ferd Gac g7 ey |

General Instructions :

(V)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

There are a total of 27 questions and four sections in the question paper.
All questions are compulsory.

Section A contains questions number 1 to 5, very short-answer type
questions of 1 mark each.

Section B contains questions number 6 to 12, short-answer type I
questions of 2 marks each.

Section C contains questions number 13 to 24, short-answer type II
questions of 3 marks each.

Section D contains questions number 25 to 27, long-answer type questions
of 5 marks each.

There is no overall choice in the question paper, however, an internal
choice is provided in two questions of 1 mark, two questions of 2 marks,
four questions of 3 marks and all the three questions of 5§ marks. In these
questions, an examinee is to attempt any one of the two given alternatives.

Wherever necessary, the diagram drawn should be neat and properly
labelled.
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Qg A
SECTION A
1. Oywewd § guyd +y fowfaa gid € 2 wfsken o1 9w fafew | 1
HAAAT
A RN o [T =AM $S I § e T STawaehar 781 sl T=g 3eh!
ST AER 7 | SR Th SR G | 1

How do drones develop in honey bees ? Name the process.
OR

Some flowers, selected for artificial hybridization, do not require

emasculation but bagging is essential for them. Give a reason.

2.  USA & Wad AT 1 W fAfEn | 1

State Mendel’s Law of Independent Assortment.

8. (i) W fowngmwedar, qen (i) Arer fowwgmehar Yeiid i arel Sfal @ sho:
Th-T 3ere fafe | 1

Write one example each of organisms exhibiting (i) male heterogamety,

and (ii) female heterogamety.

4.  TTSHISE o UTehIeh o1 9 faRay | 39 wdieror =1 W oft fofae e g 5=
T < gfee it STt 7 | 1

Name the pathogen which causes Typhoid. Name the test that confirms

the disease.
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5. 9 wivHIteyd grn ffda gnieied e ®fer 4 fw gt 8, d 9Fa IR |

frE TR 1 >fsRaT Bt 7 2 1
arerE
$THU 1 gftrerr foafew | 1

How does the human body respond when haemozoin produced by

Plasmodium is released in its blood ?
OR

Write the role of interferons.

WUE
SECTION B
6. & gRiyufag @ faafia s Stafow S &1 9@ qen sus deg digs &1 9™
fafeT | 2
3t
5. grisrrag g ffda shafay dgfag 1 = 7€ 7 g 2 2

Name one toxin gene isolated from B. thuringiensis and its target pest.
OR

Why does the toxin produced by B. thuringiensis not kill the Bacillus ?

7. 30 Tagra & =me Hife St Sid Igd HUl-geed de-ieh gl ST GUs
% g § TG 7 | 2

Explain the principle that helps in separation of DNA fragments in Gel

electrophoresis.
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8.  TUTHer HIRIY 3T & ®Y H Y HST 9 fodies ARy 31 & &9 d

THIHT UTT & T fARay | 2
arera

Srehl (AFET) T ] 2 TEeh g T8 FhR ol Tfekan 3cqel (IRA) Bt &, IEehl

3@ iU | 2

Write the functions of bone marrow as the primary lymphoid organ and

lymph nodes as the secondary lymphoid organs.

OR

What is a vaccine ? State the type of immunity that it induces.

9. 9 WA H gUR TG A IR Iew@l hl g sARe el qfd % fag

HI-TTATRIT R I fopaT ST T 2B | 2

List the four objectives with which biofortification has been carried out to

improve the public health.

10. ‘wA.wHl. 1 foeaia 9@ faRaw | w99 & fou wa.u st forg geer dmvve

27 (13 Q) =y fofaw ) 2
Expand ‘LAB’. How are LABs beneficial to humans ? (Write any two
benefits)

11. T 61 omen gew # A-80 uigar i aureadn (Agha) e F=ai g
7 ? ST HiT | 2

Why is the frequency of red-green colour blindness more in human males

than in females ? Explain.

12. UH &5 ¢ aleh fRaw Feh g STaaeifoEl § ST sl ohl foehidd
3 1 TeRar B | 2

Write any two ways by which apomictic seeds may be developed in

angiosperms.
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13.

14.

15.

16.

T us |
SECTION C

IS AT SEyHTfadt € fohE TR T 8 ? Y% 1 Th-Ush 3G
T |

arera
Teh SISTIUT GHieRtor hl Terar § gref-adet fagra i samen hifsy |

How is polygenic inheritance different from pleiotropy ? Give one

example of each.
OR

Explain the Hardy-Weinberg principle with the help of an algebraic

equation.

ITRett fafoRtor T g 2 STfde 3 3Heh! e fohd Jehr <l 2
What is adaptive radiation ? How did Darwin explain it ?

T YaTeish | fames A ot yiftreRt o sme i | ot JeTee o e
S FOCHh HIH 1 gl I & 2

Explain the role of regulatory gene in a lac operon. Why is regulation of

lac operon called as negative regulation ?

Teh ATIASTSI oh TNUF T JHBIGIG h1 AHIhd NG FHTST |

HAAT

TS UTE o YUT o ITIIEY (TATEad) IS 1 T SR 36k fohed] ©: 9T ol
AHTfeRd ST |
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Draw a labelled diagram of a mature male gametophyte of an

angiosperm.
OR

Draw a diagram of L.S. of an embryo of grass and label any six parts.

17. U THadl Algen % fafive wiew w5 % 3w ik 4 38w
U S TATE &, FlTch ST THES YUT 219 U (hHEMH) hi Hreggrar &
foepm & 7&q o | 3

(a) 219 TURH <t Frggar w1 wRo fAfE |
(b)  Tvarcht wigen st wmdar i ety gof 9 9 38 e @ WA =
i TATg T 5 ? SRS HilT |

A doctor after conducting certain tests on a pregnant woman advised her
to undergo M.T.P., as the foetus she was carrying showed trisomy of

215! chromosome.
(a)  State the cause of trisomy of the 215 chromosome.

(b)  Why was the pregnant woman advised to undergo M.T.P. and not

to complete the full term of her pregnancy ? Explain.

18. i w1 e ddg FeAeX (@) e § 2l 8, HNU od gL AR
HIT | 3

Explain giving reasons that pyramid of energy is always upright.

19. foreft Tufsd & dwR-ax gig T 61 =ren Hife | 9t Shai 6 aafe gig
Yo ITqq: TR &1 TA F1 Hd & ? 3

Explain the logistic growth pattern of a population. Why do population

growth patterns of all organisms ultimately follow it ?
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20. THIA H HEA Fsh W T % SRSAM & Ho h AT I TAT 36h
BT JUTEl <hl gt ST, | 3

aterat
ST @TE @ H SIE-3TaeH o Rl U9 TG i SAREA1 hHifT | 3

Explain the impact of human activities on carbon cycle in nature and list

its harmful effects.

OR

Explain the cause and effect of biomagnification in an aquatic food chain.

21. ol uypeti i TEA H gUR o T 3w i S aret wEifa i oemen
HIT | 3

Explain the strategy used for herd improvement in cattle.

22. fafym Sfiai i arafos &A1 i SIOHT i hi e qTiRefaenfag aufse
Hcd T HIYT Hid & | THSE Tcd Td i o I 39eh gRT AT IH a1l
fhegl o alisl (IRFAT) 1 =M TS b Th-Ush IGTE0 sl HgEal o
T | 3

Explain with the help of an example each any three ways the ecologists

use to measure population density of different organisms rather than by
calculating their absolute number.

23. (a) THEFEIRTE FHHGTE I a8 hATaiy ffew S 36 3Heh WUl
Teeiorasft 99 o oo forehfid ot H 9w o9 & |

(b) wAY foh GEFIREE ZHIBETT AN O UTECENST w ST
FAT HaTgeh! o €9 H fohd JhR wuraid fomam mm 7 | 3

(a)  Write the mechanism that enables Agrobacterium tumefaciens to

develop tumors in their host dicot plant.
(b)  State how Agrobacterium tumefaciens and some retroviruses have

been modified as useful cloning vectors.
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24. (a) Halts 3T fohU S aret SrIfTge 1 9 fafgn | 371 st
T 3TN T hd & ?
(b) dTiSd 3T IdTE I hid o foIu snfiuset | yimned form g foram
7T 8 2 3
YT

fH.R. TRl H1 3TN A FC ATWRA AfSd SH o TaGT TshH

SRS <hifou | 3

(a) Name the most commonly used bioreactor. Why are these
bioreactors used ?

(b)  How is the operation in a bioreactor carried out so as to achieve the

desired end product ?

OR
Explain the process of amplification of genes of interest using PCR
technique.
Qug g
SECTION D
25. (a) T 4§ o7de =3k o QUM U™ W B arelt fafm ufteret i
ST <hITTT |
(b) TS T 7 ?3gW hiforw foh I8 fore Tpm ARG BT B | 5
HAYAT
TS st # wrgwe gieeret f e fgfem (Seu fieE) 89
T I | 5

(a)  Explain the events that occur in the uterus during menstrual cycle
in the human females.

(b)  What is parturition ? Mention how it is induced.
OR

Explain the post pollination events up to double fertilisation, that occur
in an angiosperm.
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26.

27.

STEThfRAl (ehfied) H SL.UA.T. Wldehidad qd Ter@d o TeRAT hi
gt %IiﬁlQ |
YT

(a) Tuleyr & “wuraia g’ <l s KIS |

(b) 39IHE T H T I TH YR b G Sl IR <t ], I8 AR
ggred o AR (TOT) 1 ¢ T&T LAt |7 Hed 1 ifac fafau |

Compare the processes of DNA replication and transcription in

prokaryotes.

OR

(a)  Explain Griffith’s ‘transforming principle’ experiment.

(b)  In the above experiment, “heat which killed one type of bacteria,

did not destroy the properties of genetic material.” Justify.

TGN ST % M h G BE ok Tk TG A T I H 9 H gt a8
el I H qA IE H P WAl o WY T FY TARH H TSR hl Jog G H
Jegur foha | IEi 8 oft @ foF wet % el aifed-Aet b HE @ 78 H vanfea
@ 7 qYT Wdl T UM JaTfed 8ol TARE (dTa) T 1 @1 ] | A
Fifsre o =g whifeufaat wefomt 6t gog =1 FR0 S8 8 F@hdl 2 |

aterat
(a) TR 9 vgg™ & Ifvason =1 ygeaH = fafew |

(b) Sfae feadq & sreweHil o afoml g forelt Sta wge it feomar =&
EY 3Hh! AT TG o 1Y ThE TR TATMUT J1 Hehl ?
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While studying pollution of water, a group of students observed mortality
of fish in the river flowing through the city and also in the pond which
was away from the city but was adjacent to the crop fields. They further
found that drains of the city discharged sewage into the river and the
water from farms flowed into the pond. Explain how these could be the

cause of fish mortality.

OR
(a)  Identify the features of a stable biological community.

(b) How did David Tilman’s findings link stability of a biological

community to its species richness ?
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SET-2
. wig .
Series BVM/C codeno. DT11/2
T .
Roll No. :?&;j;qq?;’@ﬁ e =

Candidates must write the Code on the
title page of the answer-book.

o FHUAT AT HL A b 30 TG H Ylgd I8 11 2 |

o THUF H gIfg g1y Y I fIT T g TR Fl BH Ikl % J@-I8 W foid |
o HUAT TG B T fh 3 IH-TT H 27 T § |

o HUAT A HT I TTEAT I[& A € U, T T ShHTH a9 1@ |

e 3 YH-UT I Ued & A 15 fire 1 wmg fen mn R | we-uw & faaw qate 8
10.15 &t foRam SO | 10.15 &9 & 10.30 S % BT hddl T9H-9F &l gl 3R
39 3AfY o GUH o IT-GETRT W HI3 I 81 T |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

stta fom (Fgri=aen)

BIOLOGY (Theory)

giRa a7 - 3 o2 S7ferHaTH 3% : 70

Time allowed : 3 hours Maximum Marks : 70
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AT (3597 :

(i)

(i)

(i11)

(iv)

(v)
(vi)

(vii)

97-97 H GR @US] § FT 27 97 130 TT & | @ 97 314ar |
U 3 H J97 T 1 @ 5 37 Tg-370F F97 8, Fedh Fo7 1 3% FT 8 |

GUZ F 4 7 G&IT 6 & 12 TY-ITIT To7 YR 1 & 8, J9F o7 2 37| &7
g/

GUE T F 97 G&IT 13 T 24 TY-I70T F97 FPR I & &, IA% 97 3 37hl
HE |

&GS § 7 J97 G&I1 25 & 27 -3 97 8, YA G975 3Bl FTE |
J97-95 § GHY W FI3 lasheq 787 8, 17 41 1 37 aret & I541 4, 2 371 arct
g g 7, 8 3H arct GR Il H 3N 5 37Hl qicd @it d ye 7 it
FI7-IdHeq 130 7T & | Ied wienef & v ¥l @ 3l fabedl 7 G HiF 0
97 & HAT & |

SIFTHATAR, [F] BT IGT GrH-GeRT TF J9ferd Gac g7 ey |

General Instructions :

(V)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

There are a total of 27 questions and four sections in the question paper.
All questions are compulsory.

Section A contains questions number 1 to 5, very short-answer type
questions of 1 mark each.

Section B contains questions number 6 to 12, short-answer type I
questions of 2 marks each.

Section C contains questions number 13 to 24, short-answer type II
questions of 3 marks each.

Section D contains questions number 25 to 27, long-answer type questions
of 5 marks each.

There is no overall choice in the question paper, however, an internal
choice is provided in two questions of 1 mark, two questions of 2 marks,
four questions of 3 marks and all the three questions of 5§ marks. In these
questions, an examinee is to attempt any one of the two given alternatives.

Wherever necessary, the diagram drawn should be neat and properly
labelled.
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Qus A
SECTION A

1. HSd I W0 I Hl 9w fafaw | 1

State Mendel’s Law of Independent Assortment.

2. TEHISS % W 1 A1 fIrge | 37 weqor =1 9 off fefaw e oo =9
T Sl gfee i It B | 1

Name the pathogen which causes Typhoid. Name the test that confirms

the disease.

3. T fowmuymehdl @1 € ? $HeRT Ueh IR AN | 1

What is male heterogamety ? Give one example.

4.  mymee ¥ qugq s fowfaa g 8 2 ufsean & am fafae | 1
T
M R0 o TTT AT F© T H e Sl STawehd T8l 8l Tg 3Teh!
S Afa™ 7 | 38R T SR N | 1

How do drones develop in honey bees ? Name the process.
OR

Some flowers, selected for artificial hybridization, do not require

emasculation but bagging is essential for them. Give a reason.
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5. & wivalten g fafda dmisieT aea wfer ° ffw gt 7, @ aee sk o

foR® TR ShT ITT(RAT BIH 3 2 1
arera
FHUA i firent faRaT | 1

How does the human body respond when haemozoin produced by

Plasmodium is released in its blood ?
OR

Write the role of interferons.

LUs d
SECTION B
6. UH I3 q dleh ARGy ek gHI STFaaoil H TETSHM sl ohl foehidd
fopam S g B 2

Write any two ways by which apomictic seeds may be developed in

angiosperms.

7.  Wufae dHmY 3 % ®9 H I A= qun fgdiues ARy 3 %k 9 °

TRt UfoR o T ferflau | 2
JAAgAT

Fept (A 1 2 ? 39k g 18 g <t afcrent 3cue () Bt 7, 3T

3gQ HIfT | 2

Write the functions of bone marrow as the primary lymphoid organ and

lymph nodes as the secondary lymphoid organs.
OR

What is a vaccine ? State the type of immunity that it induces.
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8. & gRivwgg ¥ f9dfia T Safdy SiF &1 9 a1 38 agd dIgsh ol 4
faRem | 2

HAYAT
. griouiag g ffta fafay ddfcra i st T8 arar g 2 2
Name one toxin gene isolated from B. thuringiensis and its target pest.

OR

Why does the toxin produced by B. thuringiensis not kill the Bacillus ?

9. HHYeH % fau waifys 3w & S arelt aymeet 1 aeniHe AW fafaw |
HIUTEH o TATYA i o a1 fAfay | 2

Write the scientific name of the most commonly used species of honey bee
for apiculture. State the benefits of establishing apiculture.

10. SRME % 3IUled o U Mk 7Y I & doh 0 A9-3TURSE o 919 Mel
HeH ! FI AT ST B 2 2

Why is a slurry of cattle dung (gobar) added to bio-wastes in the tank of a
gobar gas plant for generation of biogas ?

11. (a) TrEl YFaEeEe & 39 g9k &1 W fafen s gifagfaaeiese &
5’ — 3 gauTdl % TO7Q ITERR @ |
(b) IfFerarcrss | ToTghiaissH SY haEl qial 8 ? 2

(a) Name the component of a nucleotide responsible for giving 5" — 3’
polarity to a polynucleotide.

(b)  Where in a nucleotide is the glycosidic bond present ?

12. 39 fagra i e ST St Sid STa HU-F9eH qebieh gRI 1.TH.T, @Uel
% JUEU § T 7 | 2

Explain the principle that helps in separation of DNA fragments in Gel

electrophoresis.
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T us |
SECTION C

13. ISl SRINIG ST 8 fFE YR 9 8 ? J%h 1 Uh-Ush 3IQTe0
CUE 3

ST
Teh SISO Tfienor <hl Tear 8 BTei-aaen figid shi samedr hif | 3

How is polygenic inheritance different from pleiotropy ? Give one

example of each.

OR

Explain the Hardy-Weinberg principle with the help of an algebraic

equation.

14. T IASIS o qHIea T JHDIGHG 1 ATHI(hd NG ST | 3

AT
TS TE o YUT o ITIIEY (Aaq) I 1 I SR 3ok Tohrgl ©: W ol
ATHIIehd ShITSTT, | 3
Draw a labelled diagram of a mature male gametophyte of an
angiosperm.

OR

Draw a diagram of L.S. of an embryo of grass and label any six parts.

15. HifcTer 3vaTEd GHSE 8 TEATIH o9 ATl & ? AT shifo | 3

How does the original drifted population become founders ? Explain.
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16. o Y= § e S i gfter S e A | A s=ere & e

1 FRUMTcH 909 =1 hgl SA1dT 2 ? 3

Explain the role of regulatory gene in a lac operon. Why is regulation of
lac operon called as negative regulation ?

17. Torelt Tafsd & 99R-aF glg Yo 1 e Hive | /et et S qafe gfg &
Yo 3Tad: 3HhT & ST R LA & ? 3
Explain the logistic growth pattern of a population. Why do population

growth patterns of all organisms ultimately follow it ?

18. (a) ISHARH] TTHAV TAT TARH STTHAT § Tk hl oA 3TNk TS
fofau | 7 g1 Tgshuvn | fohd JehR T =H TGS ST B 2

(b) wftes TTRHT T oen fgdies orgspAw sAfues g i qiaT 7 2
ST T | 3

(a) Write the pioneer species each of xerarch and hydrarch

successions. Which type of climax community is attained by both
these successions ?

(b)  Why is secondary succession faster than the primary succession ?
Explain.

19. TH[d H e @k W AT h UG o GH1A hl ATEAT HIfIT TAT 38
BT THTE <hl gt ST | 3

HAAT

ST @TE SJ@al § S-G9 o SRV U9 THTE 6l ST HIfT | 3

Explain the impact of human activities on carbon cycle in nature and list
its harmful effects.

OR

Explain the cause and effect of biomagnification in an aquatic food chain.
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20. T THadl Afgar & fafirse qdier & o 3w fofehedess 4 38 wH.A.
U T TATg §, Fifh ITehT THEY YO 219 TR (shrHE) i B &
fosPr & T&q o | 3
(a) 219 TR i Frgear 1 wr fafew |

(b) et Afge bt T H srafy gul 9 w3 vEd & AW A
) FATg =T < TS ? AT hIfY |

A doctor after conducting certain tests on a pregnant woman advised her

to undergo M.T.P., as the foetus she was carrying showed trisomy of

215 chromosome.
(a)  State the cause of trisomy of the 21t chromosome.

(b)  Why was the pregnant woman advised to undergo M.T.P. and not

to complete the full term of her pregnancy ? Explain.

21. faftm Sfai 6 areafas g S d@roET e A smen uitfrfasiag wufse
Ucd T HIYT Hid & | THSE Tcd JTd i o I 3deh gRT AT JH a1l
fhegl o alisl (IRFAT) 1 =M TS b Th-Ush IGTE sl HgEal o
HIT | 3

Explain with the help of an example each any three ways the ecologists

use to measure population density of different organisms rather than by
calculating their absolute number.

22. (a) YAl I fpU T T STENNUFT 1 9W fAfgu | 59 Smfset

T IYINT F1 HLd 3 ?

(b) dTiSd 3T IATE I hid o o0 STt | giEned ford g foram
7T 8 2 3

HAAT

fEH.AR. qohilch 1 ITANT A gL ATWHR aI(Sd SH o TGGT TR h

SRS hiIfTT | 3
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(a) Name the most commonly used bioreactor. Why are these
bioreactors used ?

(b)  How is the operation in a bioreactor carried out so as to achieve the
desired end product ?

OR
Explain the process of amplification of genes of interest using PCR
technique.
23. pBR322 FAIT HaTgsh § Fefcifiad Taai i e fafau : 3
(a) rop
(b)  ori
(¢ TR e
Write the role of the following sites in pBR322 cloning vector :
(a) rop
(b)  ori

(¢) selectable marker

24, TASH Ui HI XA H IR o T ITAN K TW Tt HRATT hi e
SIS | 3

Explain the strategy used for herd improvement in cattle.

Que g
SECTION D

25. (a) TWeh SHITd o Th GO o I9UA ffehcdehl 4 sdrn 6 3= g arcd!
afd o1 e it fohrgl =X GWTfd B a7 : J2m A, B, AB 3fe6@1 O |
g Hig Mt 8 Tehar & | Skl (Wld) & SiHuEY faRay qon 5@ gvmeT
% YT i o T shig ST |
(b)  SUIH ShiE o ey H TITerdT T HE-HTIdT o1 s iy | 5

YT
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26.

(a) 379 WA W g Ud =W 4 358 qer 32p w1 3w w0 R 2 s
HIfT |

(b) 3ok T H HHHV qAT STHehgVl 1 HE@ (AT |

(c) 3T SN o HYH B  A1G 3T 5RY ol [ARET |

(a) A doctor conveyed to a couple after preforming a blood test on them
that there is a possibility of their child being born with any one of
the four blood groups i.e. A, B, AB or O. Write the genotypes of the
parents and work out the cross to show how it is possible.

(b)  Explain dominance and co-dominance with respect to the above
Cross.

OR

(a)  Why did Hershey and Chase use 353 and 32P in their experiment ?

Explain.

(b)  State the importance of blending and centrifugation in their
experiment.

(¢)  Write the conclusion they arrived at after completing their
experiment.

TGNA A % AEIIA h GH BEI b Th THE 4 Teh W H o9 § Bt ag
el I H qA1 AE W G WAl o WY W FY A H 7SR hl Jog a H
101 Toha | 38 98 off <@ fop e & et aifga-Ae i Hiw g€ 3¢ 1 vented
@ 7 qUT Wdl T UM JaTfed Rl JTARE (ele) § 1 @ 8 | 3T
Hifve for =g aftfeafaat wofermi 6t 9oy =1 SRo Ha 7 ekt © |

3t
(a) TOR ST T o A& Sl TgaH W e |

(b) Sfos foaia & oT=wAl & GNUMHI gRT foell Si9 EgE i foomar 1
EY 3Hh! AT TG o 1Y ThE TR TATMUT BT Hehr ?

While studying pollution of water, a group of students observed mortality
of fishes in the river flowing through the city and also in the pond which
was away from the city but was adjacent to the crop fields. They further
found that drains of the city discharged sewage into the river and the
water from farms flowed into the pond. Explain how these could be the
cause of fish mortality.

OR
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(a) Identify the features of a stable biological community.

(b) How did David Tilman’s findings link stability of a biological
community to its species richness ?

27.  ITHhGhAl (VhEICH) H S.UA.T. Jfdhidad qAT TG & WehAT i
qer shifer | 5
AT
(a) Tufey & “suafa faga i e Hifse |

(b) ST T H “FEAT S TH YW o Q] hl AR <At 8, I8 AARR
ugred o AT (TOT) T ¢ TE HA |7 w1 Sty fafaw | 3+2

Compare the processes of DNA replication and transcription in

prokaryotes.

OR

(a)  Explain Griffith’s ‘transforming principle’ experiment.

(b)  In the above experiment, “heat which killed one type of bacteria,

did not destroy the properties of genetic material.” Justify.
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SET-3
. wig .
Series BVM/C codeno. DT11/3
T .
Roll No. ﬁﬁ%ﬁ' e =

Candidates must write the Code on the
title page of the answer-book.

o THUAT AT H W b 0 A9 H Ylgd I8 11 7 |

o WU H Mg 71Y i AR U 7T Sig Twak ! B IH-GIEIHT < §@-98 W fod |
o FUA A R A foh T TAITTH 27 TA G |

o THUAT I HT I ToTEAT T& T & Ugel, T T hATeHh 31avd o |

e U WU W Ued o iU 15 fiee o1 aw fon mn 8 | wee-ww o foawor qaig
10.15 & foham SIT@m | 10.15 S § 10.30 SIS I B had IIH-IF hl Ugi IR
39 A o GUH o IT-GETRT W HI3 I 81 T |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

SIERERIEN L EAIEED))

BIOLOGY (Theory)

FeiRa 77 : 3 T2 STfeHaTH 37 : 70

Time allowed : 3 hours Maximum Marks : 70

Do#ABaded From : http://cbsepértal . com Courtesy : PCB3E


http://cbseportal.com/
http://cbseportal.com/

D%I oaded From : http://cbseportal.cont
[=]
AT (3597 :

(i)

(i)

(i11)

(iv)

(v)
(vi)

(vii)

97-97 H GR @US] § FT 27 97 130 TT & | @ 97 314ar |
U 3 H J97 T 1 @ 5 37 Tg-370F F97 8, Fedh Fo7 1 3% FT 8 |

GUZ F 4 7 G&IT 6 & 12 TY-ITIT To7 YR 1 & 8, J9F o7 2 37| &7
g/

GUE T F 97 G&IT 13 T 24 TY-I70T F97 FPR I & &, IA% 97 3 37hl
HE |

&GS § 7 J97 G&I1 25 & 27 -3 97 8, YA G975 3Bl FTE |
J97-95 § GHY W FI3 lasheq 787 8, 17 41 1 37 aret & I541 4, 2 371 arct
g g 7, 8 3H arct GR Il H 3N 5 37Hl qicd @it d ye 7 it
FI7-IdHeq 130 7T & | Ied wienef & v ¥l @ 3l fabedl 7 G HiF 0
97 & HAT & |

SIFTHATAR, [F] BT IGT GrH-GeRT TF J9ferd Gac g7 ey |

General Instructions :

(V)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

There are a total of 27 questions and four sections in the question paper.
All questions are compulsory.

Section A contains questions number 1 to 5, very short-answer type
questions of 1 mark each.

Section B contains questions number 6 to 12, short-answer type I
questions of 2 marks each.

Section C contains questions number 13 to 24, short-answer type II
questions of 3 marks each.

Section D contains questions number 25 to 27, long-answer type questions
of 5 marks each.

There is no overall choice in the question paper, however, an internal
choice is provided in two questions of 1 mark, two questions of 2 marks,
four questions of 3 marks and all the three questions of 5§ marks. In these
questions, an examinee is to attempt any one of the two given alternatives.

Wherever necessary, the diagram drawn should be neat and properly
labelled.
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Qus A
SECTION A

1.  TIS%hiss o U o1 A falgu | 39 wdemor =1 9m ff fafige e grin 30
T < gfse 1 Tt 7 | 1

Name the pathogen which causes Typhoid. Name the test that confirms

the disease.

2. USA & WA AISEA 1 W fAfEn | 1

State Mendel’s Law of Independent Assortment.

3. el foyHgeRd T 7 ? SHHT Tk IE LT | 1

What is female heterogamety ? Give one example.

4. 9 wivHitemm gro ffta dosies ama 'R 8§ e wed R, 9 o e |

foRe TR <h1 STfhAT et & 2 1
arera
$THUA 1 gftrewt foafew | 1

How does the human body respond when haemozoin produced by

Plasmodium is released in its blood ?

OR

Write the role of interferons.
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5. wymeEl # gAY %3 foshfaa B 8 2 fskan o1 am fafaw | 1
Frera

A ROl < [T =TI $B I H fagea Sl STawaehar 781 sidl T=g 3eh!
Sftmr Afar 8 | s8Rt T SR dfe | 1

How do drones develop in honey bees ? Name the process.
OR

Some flowers, selected for artificial hybridization, do not require

emasculation but bagging is essential for them. Give a reason.

Qs d

SECTION B
6. Al Hiemy 3 & w9 H Ay = qun fodiwe ooy 71 % w9 d
Rt TfR o YR fafRau | 2
YT

ehl (AFET) FAT ] 2 3Eh g T8 FhR <l Tferen 3cad (IRA) Bt &, IEehl
3@ HifvT | 2

Write the functions of bone marrow as the primary lymphoid organ and

lymph nodes as the secondary lymphoid organs.

OR

What is a vaccine ? State the type of immunity that it induces.
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7. W@ %% 3 ale ey e g s § smemte el w5 fsia
feha <11 wehat 2 | 2

Write any two ways by which apomictic seeds may be developed in

angiosperms.

8. 39 fagra &I =me Hifve I @ I HU-HFed dohieh gRI S1.TA.T, @UEl
% JUERU H T 7 | 2

Explain the principle that helps in separation of DNA fragments in Gel

electrophoresis.

9. T i 39 fopew 1 A AW fafaw 9 qord: W wRa § IR S o |
o <hl 39 ToreH T <faor i § IME I arell Iwiekfead = h e &
1 TR ] KU =T 2 2

Write the scientific name of the sugarcane variety that was originally
grown in North India. Why was this variety hybridised with the tropical

variety of sugarcane grown in South India ?

10. S8 fFmivicrEigiarrg & T fd-3au Sa-fFe=es = 91 S @ 2 2
Why is genus Nucleopolyhedrovirus considered an excellent biocontrol
agent ?

11. <R fagm fowr o difea safh 0 39 faehr o1 sror 9un 39 @er fofay | 2

State the cause and the symptoms of a person suffering from Turner’s

Syndrome.
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12. & gRiSTag & f9afi[ ue Sfafay 9 &1 9 a9n 36 a&d digsh &1 I
fafew | 2

HAAT
1. gRiseigg g i Sfafay ddicrg vt 1 T8 AT 8 2 2
Name one toxin gene isolated from B. thuringiensis and its target pest.

OR

Why does the toxin produced by B. thuringiensis not kill the Bacillus ?

Qs 9
SECTION C

13. UH o fafia aliel i samean i [ epfaes aXor 1 J=Te gl @ | 3

Explain the three different ways in which the natural selection operates.

14. <% ek § Fmes SiA i fieet it samen HIT | o T=Terh % e
&1 RUTcHe 99 =11 hgl Ja1 @ 2 3

Explain the role of regulatory gene in a lac operon. Why is regulation of
lac operon called as negative regulation ?

15. e MMAsTsl o IRTad T JHRIGIHE I AR TG S5 | 3

AT

Teh o % YUT o ITIIEY (TFEEq) hIC 1 o SHIRL 3eh Tohral ©: W

AR I | 3
Draw a labelled diagram of a mature male gametophyte of an
angiosperm.

OR

Draw a diagram of L.S. of an embryo of grass and label any six parts.
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16. Torelt Tmfse & G9R-aF gfg Yo 1 = Hifve | asft et S aufee gfg &
Yo 3Tad: 3HhT & ST R LA & ? 3

Explain the logistic growth pattern of a population. Why do population

growth patterns of all organisms ultimately follow it ?

17. ISl SRING SIHTd 8 fFE YR 9 8 ? J% 1 Uh-Ush IQTaL0
Qe | 3

AT

Teh SISTTTOTA I THTeRtoT <hl TgTaT 8 gTei-aden fgid hl same hify | 3

How is polygenic inheritance different from pleiotropy ? Give one

example of each.

OR

Explain the Hardy-Weinberg principle with the help of an algebraic

equation.

18. & e@ T & b urew.uifor yreediien-fshaat # sreher wgfaed fifed giar 2 |
Teh AYfId IETE hl Tgaal & AT HifrT | 3

It is observed that plant-animal interactions often involve co-evolution.

Explain with the help of a suitable example.

19. U THadl ufgen & faftrse e 0 & Iwwa fafecas 4 3@ wa.d.d.)’
U S TATE &, FiTch IHehT THES YU 219 TR (ShHE™) i e
forepR & 7r&q o | 3
(a) 219 TORA i FBrEEar 1 R ey |
(b) et afgar wt wndar A sy gof 7 W W A § WA R TE

61 FeTg w1 G TE ? AT HIAY |
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20.

21.

A doctor after conducting certain tests on a pregnant woman advised her
to undergo M.T.P., as the foetus she was carrying showed trisomy of

215 chromosome.
(a)  State the cause of trisomy of the 215t chromosome.

(b)  Why was the pregnant woman advised to undergo M.T.P. and not
to complete the full term of her pregnancy ? Explain.

Yeh{d H SHIeH Tsh T TSI o AUl o THM hl AT HifL qAT $Hh

c

BITehReh TWTEl oh! g SA1ST |
3tera
S T S[E H SS-3TEE o HRUT Td TG i ST ST |

Explain the impact of human activities on carbon cycle in nature and list
its harmful effects.
OR

Explain the cause and effect of biomagnification in an aquatic food chain.

(a) EAiYeh 39N fopU 9 a1l STRuEeT <1 W fafgu | 31 Iy
T 3TN T Hd & ?

(b)  difed 37T IUTE UTed i o foTu arniiusrer d gf=meq forg g foma
ST B 2

HYAT

. E. AR, T B ITM A gL AWHR] qMMSd S % Fa€T THA
ST HIY |

(a) Name the most commonly used bioreactor. Why are these
bioreactors used ?

(b)  How is the operation in a bioreactor carried out so as to achieve the
desired end product ?

OR

Explain the process of amplification of genes of interest using PCR
technique.
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22. TAS Ui I TEA H IR o T ITAE K TH aTelt HRAG hi ST
I | 3

Explain the strategy used for herd improvement in cattle.

23. 3T UM 1 M A1 I faikay Srees fou g faferear =1 gdvem g foman
T | 39 U 9 difed Wl st SeM hi S areft St faferean o fafie =won =
fafeT | 3

Name the disease and its cause for which the first gene therapy was
given. Write the steps carried out for the gene therapy given to the

patients suffering from such a disease.

24. faftm Sfiat 6 arafas @ i gmoEr e i emer qiitferfasfag aafse
Hcd T HIYT hid & | THSE Bcd A ohid o I ek gRT AT I a1l
fordl i afeel (IREAT) T AT TSk TH-UH 3QTE hl HERdl o
i | 3

Explain with the help of an example each any three ways the ecologists

use to measure population density of different organisms rather than by

calculating their absolute number.

s g
SECTION D
25. UUcH Ud LT o YA hl SIRSAT <hIfGTT eI 38eh 5y +ft feafgu | 5
AT
(a) SATFHISEIFAAICIEEH o SgaIh hl TTEAT I JUM HINT |
(b)  Th AR.UA.U. gl 384 fohd Yepl ot @ 2 5
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26.

Explain Meselson and Stahl’s experiment and write the conclusion they
arrived at.

OR
(a)  Describe the structure of a polymer of de-oxyribonucleotides.

(b)  How is an RNA polymer different from it ?

TENA I 6 AL % R BHEI o Th TG 4 Th W H AT § FoRL T8
el FE H qA IME H G WAl o WY T FY AR H TSR hl Jog G H
eqo7 fomar | 324 I8 oft ¢@n foh 918t & 91 difgd-At sl @Y @ 9 °§ yantgd
@ 7 qUT WAl T UM JaTfed gkl JTARE (dTd) T ST W@ R | A
Hifore T 77 ifeufaat mefert 1 9oy 1 Hro F 8 Tkt £ |

AT

(a) TR 9 ggge & Ifraeen w1 ygaH = fafey |

(b) Sfag feadq & sreeHi o qioml g feelt S99 ogeE it foomat o
EY $Heh! WA g o |1 fohd JehR TTfud &1 Fehl ?

While studying pollution of water, a group of students observed mortality
of fishes in the river flowing through the city and also in the pond which
was away from the city but was adjacent to the crop fields. They further
found that drains of the city discharged sewage into the river and the
water from farms flowed into the pond. Explain how these could be the

cause of fish mortality.

OR

(a)  Identify the features of a stable biological community.

(b) How did David Tilman’s findings link stability of a biological

community to its species richness ?

DoWH3aded From : http://cbsepdtal . con Courtesy :

CBSE


http://cbseportal.com/
http://cbseportal.com/

D%I oaded From : http://cbseportal.cont
[=]

27.  STHhGRAl (WhEICH) § .UA.U. UfThidad qoa TG & WehAT i
ENELCTIE I 5
HAYAT

(a) Tufeyr & “suraia g’ < s KT |

(b) 3uIHE T H T I TH YR b G Sl IR <l ], I8 AR
ueredl o T (TUTT) T Toe TE HAT |7 HeH i e faRaw | 342

Compare the processes of DNA replication and transcription in

prokaryotes.

OR

(a)  Explain Griffith’s ‘transforming principle’ experiment.

(b)  In the above experiment, “heat which killed one type of bacteria,

did not destroy the properties of genetic material.” Justify.
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